ELEC 105
Fundamentals of Electrical Engineering
Spring 2010
Homework Assignment #6 – due in class Friday, Mar. 26, 2010
Problems 2.89, 2.94, 2.96, and 2.102 (use the suggested TEC approach) in the textbook, plus the following additional problems:

1. Derive expressions for the currents i1, i2, and i3 in the circuit shown below in terms of the independent sources vx, iy, and iz.  That is, each expression should be in the form

in = avx + biy + ciz,

where a, b, and c are constant coefficients and where n = 1, 2, or 3.  To check your answers, if vx = 60 V, iy = 6 A, and iz = 12 A, then i1 = 7 A, i2 = 3 A, and i3 = 4 A.

[image: image1]
2. Find the Thévenin equivalent circuit “seen” by resistor R3 in Figure P2.68 of the textbook. Note:  You will not be able to use the series and parallel equivalent resistance approach to find Rth.
Special instructions, notes, and hints:

You may make reasonable assumptions and approximations in order to compensate for missing information, if any.  Include the details of your solutions to all problems.  You will not receive credit if you do not show your work.
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